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3.030 | 2.811 | 0.219
2.993 | 2.795 | 0.198
3.000 | 2.809 | 0.191
2.955 | 2.766 | 0.189
3.005 | 2.743 | 0.262
3.019 | 2.778 | 0.240
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D mmo. Dk —

Case

1-1 19.65 168.75 4.80 x=90mm

1-2 19.82 169.00 4.94 x=80mm

1-3 19.84 168.00 4.92 x=840mm

2-1 21.09 143.25 2.02 x=90mm

2-2 20.56 120.50 1.06 x=450mm

2-3 20.61 163.75 3.70 X=760mm

2-4 21.14 111.00 0.90 Xx=680mm

2-5 20.97 108.00 0.88 | x=750mm
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0.069 | 0.150 | 0.360 | 0.011 | 0.025 | 0.023 | 0.024 | 0.016
0.050 | 0.250 | 0.510 | 0.016 | 0.018 | 0.024 | 0.008 | 0.013

(mm)

325} 328 3.08; 3.32| 3.05| 344 | 3.24

3.07}285| 313} 3.25| 3.03} 3.39| 3.12

311 333|295} 324 311} 311 3.14

316 3.16| 3.16 | 3.16| 3.15 3.15| 3.16

315} 3.13| 3.15} 3.14| 3.13§ 3.13| 3.14

314} 312| 3.13} 3.13| 3.13§ 3.12| 3.13
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0.9 2.162 26.7
1.0 2.403 33.6
0.8 1.922 29.6
1.0 2.403 32.3
1.1 2,643 36.1
1.2 2,884 34.4
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